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Hifsre ; (w18 a7) 9x1=2

AN A

(i) UM, CHg- NHy, p-TSgUfc= (&ehar ame)
(ii) CgHzNH,, CgHsNHCH;, CqHzCHoNH, (SRehd1 a2y )

(iii) CoHgNHy, (CoHg)g NH, CgHsNH, (S | Torctarar)

2.  AMfshar <Al hifd TR AfTRAT <l 3TfUdehdT o ALY <l 3= faIRgu |

3. TifaRaa stfufsraneti @ grag o™i g fafkau . 2x1=2

(i)  FHET ST

(i) TUSHES TT=TH
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General Instructions :

Read the following instructions very carefully and strictly follow them :

1)

(i)

(iii)

(iv)

(v)

(vi)

56/B/6

This question paper contains 12 questions. All questions are
compulsory.

This question paper is divided into three Sections — Section A, B
and C.

Section A - Questions no. 1 to 3 are very short answer type
questions, carrying 2 marks each.

Section B — Questions no. 4 to 11 are short answer type questions,
carrying 3 marks each.

Section C - Question no. 12 is a case based question, carrying
5 marks.

Use of log tables and calculators is not allowed.

SECTION A

Arrange the following compounds in the increasing order of
their property indicated : (Any fwo) 2x1=2
(1)  Aniline, CHg — NHy, p-nitroaniline (Basic strength)

(1)) CgHgNHy, CgH;NHCH3, CgH5CH9oNH, (Basic strength)
(iii)) CoHgNH,, (CoHg)g NH, CcHsNH, (Solubility in water)

Write two differences between Order of reaction and

Molecularity of reaction. 2

Write the chemical equations involved in the following
reactions : 2x1=2
(1) Clemmensen reduction

(11) Rosenmund reduction
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(1)
(ii)
(111)

(%)

3x1=3

YW hife h rTufsham o forw o femes 40 51 8 | srfufseaes

HT T IR FiEar o 1mmwaﬁﬁmwaﬁm? 3
llog 10 = 1]

HAYAT

A 3R B & gex AM4fhan, A & 9fd gem sife &t 3 B & afd
I HIfE H g | Mg Iroft § 39 fufshan & faw fww
PﬂFTﬂﬁE: 3
TRfEes am
ST [Al/M [BI/M M/fire
I 0-1 0-1 2-0 x 102
I - 0-2 4-0 x 102
I11 0-4 0-4 _
1\Y - 0-2 2:0 x 102
% % [Ty Th-Ush 39gh 358 od g fmAfafigd wgi i
qﬁﬂﬁﬂéﬁﬁ?: 3x1=3
(i) gfuae Hiciise
(i) @i
(iii)  STfersmiyor
Srat
i () = @, @ () 3 g€ W Hia-sicrh R
gyat T fafau |
(i) Aferener 1 TR SswEdt F= ® ? 99 W ghg H
TR T AT YT ISaT & 2 3
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SECTION B
Account for the following : Ix1=3
(1) Transition metals and their compounds show catalytic
activities.
(i) Cu?* is coloured while Cu* is colourless in aqueous
solution.
(iii) E° value for Mn2+/Mn couple is highly negative.
(a) The rate constant for a first order reaction is 40 s~1. How
much time will it take to reduce the initial concentration
of the reactant to its %th value ? [log 10 = 1] 3
OR
(b) The reaction between A and B is first order with respect to
A and zero order with respect to B. For this reaction, fill in
the blanks in the following table : 3
Initial rate
Experiment [AlI/M [BI/M M/min
I 0-1 0-1 2:0 x 102
11 — 0-2 4-0 x 102
I11 0-4 0-4 —
vV — 0-2 2:0 x 102
(a) Define the following terms with a suitable example in
each : 3x1=3
(1) Multimolecular colloid
(i) Sol
(i11) Adsorption
OR
(b) () Write the Freundlich adsorption isotherm at (I) low

pressure, and (II) high pressure.

(i1) Why is adsorption exothermic in nature ? What is
the effect of increasing temperature on adsorption ? 3
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7.  TShAU Il hl INUTNT ST | HshHYT GTqAT shl hUH Tedl I=al Hi
gt 8 2 3d 2vff 0 forg a9 Al 09 At fAqe gt g iR 2 3
8. (%) UINhdl WY THgd o MIR W H=lciRgd Fpall 1 Gehiul
(i) [FeFgl?
(i)  [Co(ox)g]™
[HT] AT : Fe = 26, Co = 27]

o

(@) F=fafaa gga w1 g fafev .
R e IaTee (11 FAss 2+1=3
9. (%) wIAA & Ty ik fafEn 3x1=3
i) LiAlH,®
(i) & NaOH I
(iii) HCN b

rera
(@) M HERgd AR 8 T79d il 3x1=3

(1) TS A § 2-FARTLAISh A
(ii) WUH ¥ t-ed Uehigidl
(iii) CH3-CH=CH-CHy—CN ¥ CHg- CH =CH - CH, - CHO

10. () (i) UHCH HISdA-3heed FUGHAT F1 I8! al § ?

(i) RIS ThaT 8 Trag TR fafgu |
(i) FfREd & A 3R B i gram fafeg

CONH
@/ * Bry+ KOH(aq) , (CH;000
RUSTE 3x1=3

HAYAT

(@) wnafies, fodae @ qdtee UHHT s gg=e 61 fgaert fafe

Jui9 hIfSu | 3
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Define transition elements. Why do transition metals have
higher enthalpies of atomisation ? Which element in 3d series
has lowest enthalpy of atomisation and why ? 3

(a)

(b)

(a)

(b)

(a)

(b)

Write the hybridization and magnetic character of the
following complexes on the basis of valence bond theory :

D [FeFg)>

(ii)  [Co(ox)g]™
[Atomic number : Fe = 26, Co = 27]

Write the formula of the following complex :

Hexaamminecobalt(III)chloride 2+1=3
Write the reactions of ethanal with 3Ix1=3
(1) LiAlH4
(11) dil NaOH
(111) HCN

OR
How will you convert the following : 3x1=3

(1) Ethanoic acid to 2-chloroethanoic acid
(i1) Propanone to t-butyl alcohol
(iii) CH3- CH = CH - CHy — CN to CHg — CH = CH — CH,, — CHO

(1)  Why does aniline not give Friedel-Crafts reaction ?
(i1) Write the equation involved in carbylamine reaction.

(i11) Write the structures of A and B in the following :

CONH
> Br, + KOH (aq.) A (CHyCORO0
! Pyridine

3x1=3

OR

Describe Hinsberg method for the identification of
primary, secondary and tertiary amines. 3
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11. () =it anme Afufsrenett o f=fafaa Aiffeet & 37961 sed
g8 ATHIHATMAT o HH H sfEdd T :
A, WUAd, SUAH, S

(@) sifcgarss Uesld Uu- o491 &l <dl & ?

()  URA-2-3TH 3R UH-3-3TH & 7 fave & & fow o
TR weror fafge | Ix1=3

Qs 1

12. ffaRea smg=ag #i afer it = fou Tu yw=i & 3 fofaw
Ueh TIgd-UEeh §d | g gifcaeh oideie fagd-Taaed fae i |
fafssa ®d & | faequamafs o9 g YR & 8d & | fead! 9 |
U Toq: Sl AT S THrEfe ot fagq o # ®uTaid gt

], Jafh fagq-oTudeft o d fagq ol &1 ST Th TEqd: (e

rfufshan =l U T BT 8 | U STRh faeed § fmfssa soisgie &1
O 9IS fa9d BIESIN Soidele o ael B qiwriya femam Siam 2,

RTEh! A Soiaele fava 3 WHT SITaT & |

s faga-smogedt faeem i aeshal, (k), fagd-staeges i grga,
foeTmres i Tehfd Td a19 W MR Tl g | ARl TR HIGR ATerehd]
(A GFI B Tae=E i1 |igar # 9iEdd & a1 qitEfad gidl @ |

() 39 Teodl d i g Hifse Sam e safufsea e 2
Zn (s) + 2Ag+ (aq.) —> Zn?* (aq.) + 2Ag (s)
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11. (a) Arrange the following compounds in increasing order of
their reactivity in nucleophilic addition reactions :

Ethanal, Propanal, Propanone, Butanone
(b) Why does Benzaldehyde not undergo aldol condensation ?

(c) Write a simple chemical test to distinguish between
Pentan-2-one and Pentan-3-one. 3x1=3

SECTION C

12. Read the passage given below and answer the questions that
follow :

An electrochemical cell consists of two metallic electrodes
dipping in electrolytic solutions. Electrochemical cells are of
two types. In galvanic cell, the chemical energy of spontaneous
redox reaction is converted into electrical work, whereas in an
electrolytic cell, electrical energy is used to carry out a
non-spontaneous redox reaction. The standard -electrode
potential for any electrode dipping in an appropriate solution
is defined with respect to standard electrode potential of
hydrogen electrode taken as zero.

The conductivity (k) of an electrolytic solution depends on the
concentration of the electrolyte, nature of solvent and
temperature. Both conductivity and molar conductivity (A)

vary with concentration of solution.

(1)  Depict the galvanic cell in which the following reaction
takes place :

Zn (s) + 2Ag* (aq.) —— Zn?%* (aq.) + 2Ag (s)
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(ii) o1 BIAT 8 ST& TR TR STl fova Tagq-Tamteh §d B

g 3feres a1 8 ?
(iii) <TAhdl 3T HIoR ATcAehdl FTgdT o F1Y Hd giafdd gidl 8 2
(iv) (%) Tr=faRaa il & e A, G aftenfca Hif -

Zn (s) + 2Ag+ (aq.) — Zn?* (aq.) + 2Ag (s)

fen w2 E%a =156V, 1 F = 96500 C mol-1

HAAAT

(@) 25°C R fafafad Ba 1 emf aihfd T

7Zn (s) + 2Ag+ (0-01 M) — Zn2* (0-1 M) + 2Ag (s)
e w3 Eow =156V

[ log 2 =0:3010, log 3 =0:4771, log10=1]
1+1+1+2=5
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(i1) What happens when external potential applied is greater

than Egell of electrochemical cell ?

(i1i) How do conductivity and molar conductivity vary with
concentration ?

(iv) (a) Calculate A.G° of the following reaction :
7n (s) + 2Ag+ (aq.) —> Zn?* (aq.) + 2Ag (s)
Given: E) ) =156 V, 1 F = 96500 C mol~!
OR

(b) Calculate the emf of the following cell at 25°C :
Zn (s) + 2Ag+ (0-01 M) — Zn?* (0-1 M) + 2Ag (s)
Given: E =156 V

[log 2 = 0-3010, log 3 =0:4771, log 10 = 1]
I1+1+1+2=5
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